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+ Motion transmission is

another without altering the nature ©

the mechanical function

.
f the

o

transmitting motion.

4 A motion transmission system is

o

z set of componen

Driver component

Component that recelves the

i ~

= the system.

.

Driven component

Component thet receives the mot rion and transfers it to

another part.

intermediate component

Component locat

ted between the driver and driven components.

Giear train

Dlre 'on of rotatlon

Alternates from one gear to another.

. >'Re\/§fsi5i|ity':

Chain and sprocket

systein

Depending on the ¢

Worm and worm gear

Friction gear system

R
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a) If Wheel A turns clockwise, specify
the direction the other wheels will
turn in.

B: Clockwise.

£ Counter-clockwise.

0: Clockwise.

. Which wheel will turn fastest?
Wheel C.

e
Tt
Aot

. Study the photo opposite.

a) Draw a red arrow to the driven components
in the system.

b} Draw a blue arrow to the driver components
of the system.

¢} Does this motion transmission system have an
intermediate component? If so, draw a black
circle around it.

No.

What motion transmission system could you use to transmit motion between closely
positioned parts?

A gear train or friction gear system.

| You wish to build a machine with a motion transmission system. The motion transmitted will be
rapid. It must connect distant parts, and you do not want to have to lubricate the system. Which

system is most suitable? Explain your answer.

The most suitable system is a belt and pulley system.
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In which situation can gears with helical teeth be used?

When the teeth grooves are not parallel to the rotational axis.
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|dentify the motion transmission systems illustrated below.

SHOR

" Of the motion transmission systems below, identify the ones whose
rotational motions are correctly illustrated.
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Speed changes in motion transmission systems

" How is it possible to increase speed in a worm and worm gear system?

S

*Your teacher wants you to make a belt and pulley system in which the rotational speed of the
pulleys varies. She wants the 7-cm driver component to turn fast, the next two pulleys to move
more slowly, the fourth pulley to turn faster than the driver component and the fifth and final
pulley to turn at the same speed as the second pulley. Give an example of pulley dimensions
that will comply with her specifications.
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